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Ответы

1. 2

2. 1

3. C & D

4. C & D

5. A

6. D

7. 4

8. 4

9. B

10. A & C

11. 2

12. 4

Решите каждую задачу.

1) На какое число с
наибольшей
вероятностью попадет
спиннер?

2
341

2
2

1 1 4
2

2) На какое число
прядильщик с
наименьшей
вероятностью попадет?

3
4323

3
2
4

2 2 1 4
4

3) На какие две буквы с
одинаковой
вероятностью попадет
спиннер?

A
AD

D

C
C B

A

4) На какие две буквы с
одинаковой
вероятностью попадет
спиннер?

D
CD

C
A

A
B D

C

5) На какую букву тот с
наименьшей
вероятностью попадет?

D
BDCB

B
D

C C C B
A

6) На какую букву тот с
наименьшей
вероятностью попадет?

A
ADC

B
B

B C C
C

7) На какое число с
наибольшей
вероятностью попадет
спиннер?

2
144

2
4

3 4 1
2

8) На какое число с
наибольшей
вероятностью попадет
спиннер?

4
144

3
3

2 4 3
1

9) На какую букву тот с
наименьшей
вероятностью попадет?

A
ADB

C
C

C A C
D

10) На какие две буквы с
одинаковой
вероятностью попадет
спиннер?

A
BB

C
C
D

A A
C

11) На какое число
прядильщик с
наименьшей
вероятностью попадет?

4
133

2
1

1 1 4
4

12) На какое число с
наибольшей
вероятностью попадет
спиннер?

3
34

1
1

2
4 4

4
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